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getMedian(4, 5, 6)

Coin 6 is the median among coins 4, 5, and 6.

getHeaviest(3, 1, 2)

Coin 1 is the heaviest among coins 1, 2, and 3.

getNextLightest(2, 3,
4,5)

Coins 2, 3, and 4 are all lighter than coin 5, so the lightest among them (3)
is returned.

getNextLightest(1, 6,
3,4)

Coins 1 and 6 are both heavier than coin 4. Among coins 1 and 6, coin 6
is the lightest one.

getHeaviest(3, 5, 6)

Coin 5 is the heaviest among coins 3, 5 and 6.

getMedian(1, 5, 6)

Coin 1 is the median among coins 1, 5 and 6.

getMedian(2, 4, 6)

Coin 6 is the median among coins 2, 4 and 6.

answer([3,4,6,2, 1,
5])

The program found the right answer for this test case.

raaal) 7 3 gal

line 1;: T' —- the number of test cases ®

each of the lines from 2 to T' 4+ 1: a sequence of 6 distinct numbers from 1 to 6: the order of =

.the coins from the lightest to the heaviest

For instance, an input that consists of two test cases where the coins are ordered 123 4 5 6 and
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346215 looks as follows

.The sample grader prints the array that was passed as a parameter to the answer () function
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